
Consolidate two or more schools into one

Whittier K-5

Roosevelt K-5

West Liberty PK-5

Langley K-5

Westwood K-5

Concord K-5

• Whittier is projected to have fewer than 150 

students in SY24-25

• Whittier only has capacity for 310 students, which 

is too small for a full-sized K-5 program

• Challenge: Requires existing students to be split 

across multiple schools

• Challenges: Whittier could be renovated to 

expand its capacity

• Roosevelt Intermediate only has capacity for ~350 

students, which is too small for a full-sized K-5 

program

• Allows Roosevelt to expand its early childhood 

program

• Challenge: Requires existing students to be split 

across multiple schools

Key Considerations

Whittier K-5 closes and students attend Langley or Westwood

Roosevelt K-5 closes and students attend West Liberty or Concord
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